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Question 1  (*%)

The events A and B are such so that

Determine ...

a) ... P(ANB).
b) ... P(ANB).

¢ ... P(AUB).

P(AnB)=02|,(P(AnB)=0.1], |[P(AUB)=0.9

P(A)=03 ¢ PR)=0:5 » PGAUR)=0.G
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Question 2 (*%)

The events A and B are such so that
P(A):O.7, P(B):0.4 and P(AUB):O.S.

a) Illustrate this information in a fully completed Venn diagram.
b) Determine the probability ...
i. ... of either event A orevent B occurring, but not both.

ii. ... of neither event A nor event B occurring.

PC4)= 0T o PR)=0& o P(a0R)=08

o) wsWe THE Srweagn ProsAsUY BeauA

PCAOR) = B(A) + P(R) - P(ANR)
08 = 0T 4+ o4 — PQAQR)
PR) = o3
A DIAQAM G wowy BE B I

] _
| @@, | ~

B I) opiol = oS~

P
17) b~ (B o vt MNM)
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Question 3  (*%)
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The events A and B are such so that

P(A)=048, P(B)=0.38 and P(ANB)=0.28.

Determine the value of ...

a) ... P(AUB).
b) ... P(ANB).

¢) ... P(AUPB).

P(AUB)=0.58

P(A'NB)=0.42|, [P(A'UB)=0.72

PA)=0qs o P(®|=038 o PGrOR-028

T 00 & VN0 DA A8 e A Gt THe hgseCTion

2 Z
>8] L) PA0B) = ok /
9 P(Kud) = P+ pae) - BANE)
PAOY) = 024062 - 042

o) = 070
PR z/%/
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Question 4  (*%)

The events A and B are such so that
P(A'mB):O.35, P(AmB'):0.25 and P(A'mB'):O.l.

a) Illustrate the above information in a fully completed Venn diagram.

b) Determine ...

P(A)=0.55, [P(A'UB)=0.75

P(4ng) = 015 & P(AaB)= 025 @ PHNE )0l

) AL W THE U DIAGAN S we ok i Digect 10f>

TP

k) PA) < vx 03 = © i:///

€] P(ALB) = P(A) + ¥R) — PCang)
P(AUR) = PGY) > PG)~ P(a'ng)
PA'UR) = 0. 4 065 — oas
Pug) = 01~
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Question 5 (*%)

The events A and B are such so that

P(A)=045, P(AnB)=03 and P(AUB)=0.3.
a) Illustrate the above information in a fully completed Venn diagram.

b) Determine ...

i. ...P(ANB).
ii. ... P(ANB).

iii. .. P(AUB).

P(ANB)=0.15|, |P(A'nB)=0.35|, |P(AUB) =0.65

A= o5 o P(AR)=03-PAUR) =03

a) AWNG 1N THE U DIAGAM,

N PCAnR) = o-ls /7//Hbu DIAGLAM

D PANR) = oss// Foul DA
CII) PCAUR) = PA)+ PEB) - P(OR)
PCAVE) = Pow) +R®) — PANE)

PGOR) = oug +0.5 - 03
PCAOR) = 045
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Question 6  (*%)
Of the families in a village, 70% have dogs and 45% have dogs and cats.

Of the families in this village, 18% have neither a dog, nor a cat.
a) Illustrate this information in a fully completed Venn diagram.
b) Find the percentage of families that do not have a cat.

¢) Determine the probability that a family picked at random will own dogs or cats,
but not both.

[43%]. [37%]

Q) WO Te MREMATON 1) ﬂgumn
[Py = 0% [
FCDHQ Az \
“(Dnc ) = o4 ’ e

B P - murey - wx Cron o) ,,,,;;9

<) 0NC) U PCend) = 5% vnx = 37/ From G040y

_

A
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Question 7  (**+)

The events A and B are such so that
P(A)=0.7, P(B)=0.8 and P(AUB)=08.
a) Find P(ANnB).
b) Illustrate the above information in a fully completed Venn diagram.

¢) Determine ...

i. ...P(AnB).

ii. ... P(AUB).

P(AnB)=0.1}, |P(A’nB)=0.1, [P(AUB)=0.9

P T O T T o
CPA)= 07 o P@)=08 o P(AUR)=o.8 &
?_w A A A A AAA A A A A, )

) PCAOR) = PG + P@®) - PCA0B)
PGALR) = RN 5 [1-RE[] - @08)
08 = 07 + 02 — ANR)
P@ng) = ol =
Pz

Q) T)  RAONG Prom T vewn i
Al =
RAlng) = o

AT Por) = PO+ (k) - PAn)
PHOR) = )+ PQR) — PUOE)

ANUB) = 02 &+ 0¥ — 02
PAvg) = 09
p
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Question 8  (**+)
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The events C and D are such so that

Determine the value of ...

a) ... P(CND).
b) ... P(C'ND).

¢ ... P(CUD).

P(D)=0.5 and

P(C'nD’)=0.25.

P(CND)=0.15

P(C'nD)=0.35|, |P(C'UD’)=0.85

Pc=0¢ & P@®)=0s PCcAD )= 025

o) TRM_SThIONED Ve DIRGOMM_ ENp£DGE =
(@)
F PCan) = 025 = PCcop) =07 o
~ PCon) = PCT) + () — PCcnD)
= 018 = o+ + o0 — fcnD)
= P(cnY) = ois =
A

b Rue N A 080 DRRAM
s ¥c'ap) = 035

e
ROM DiGesu

9 bsws e A" oo
o) = RO + 2@) - Plenp
PCchp) =2C) + () - #Cchs)
P(CUD) = D6 b 05 — dag

oy = V
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Question 9 (**+)

The events E and F satisfy
P(E)=0.35, P(F)=0.45 and P(ENF’)=0.15.
a) By completing a suitably labelled Venn diagram, or otherwise, find P(ENF).
b) Determine ...
i. ...P(E|F).

ii. ... P(F

E).

S

E)

Me)=03ce PR =0l o P(Em

) THERE S 6uvose] INQRNATN T S, N A UHu DiGemut
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Question 10  (**+)

The events C and D satisfy
P(CNnD)=0.1, P(C'nD)=0.15 and P(C'nD")=0.2.

a) Illustrate the above information in a fully completed Venn diagram.

b) Determine ...
i ...P(C|D).

ii. ... P(D

C).

p(c|D) =4, [p(D’

‘)

S

Plcal) =ol o P(c’aD) =05 o P(/NY )=02

&) THEZE 1S 60000] NELUATION T BLLIN 4 Vi DiAcey

 ; JpSm——— o
Cav

o

~
T In) = Pend) o 1~
b 1) Pl . & s
W) = PP o ot | 2
9 @ie) o vra B
-
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Question 11 (**+)
The events A and B are independent with

P(A)=0.3 and P(B)=0.5.

Determine ...

a) ... P(AUB).
b) ... P(ANB).

¢ ...P(B

A).

A)=P(B)=0.5

P(AUB)=0.65, |P(A'nB)=0.35|, |P(B

[ S I e Rl s
CRA=03 @ PGA)= o5 o AgB momrng ;

u) AR = PG ¢ P = FGNR) ) warenacsy
PCAOR) = PAA) + P®) — PRI B@) 4 9o
PeAUR) = 03 + o0 — 03xoS
PALR) = 04S _~

=
7
b) A e sows 4 oeswes
PANR) = PCOK)x PCR) = 07«0 = o3s 7

QA i a9 A WD
>

PCRINS = 2cg) = o5~
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Question 12 (**+)

The quality controller in a factory examined 250 components for three types of minor

faults, known as fault A, fault B and fault C.
His results are summarized as follows.

e 4 components with type C fault only.

e 8 components with type A and C butno B fault.

e 9 components with type A fault only.

e 7 components with type B and C butno A fault.

e 1 component with type B fault only.

® 5 components with type A and B butno C fault.

e 2 components with all three types of fault.

a) Draw a fully completed Venn diagram to represent this information.

A component is selected at random from the quality controller's sample.

b) Find the probability that the selected component has a type C fault.

¢) Given that the selected component has a type B fault, find the probability that

the component has all three types of fault.

d) Given instead that the selected component has a fault, find the probability it has

two faults.

Created by T. Madas
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Question 13 (**+)

The events A and B are such so that
P(A):O.2, P(B):O.S and P(AUB):O.6.

Determine whether A and B are independent events.

P(AnB)=0.1=P(A)P(B) < independent

)02 @ P®= o5 0 PCALR) = 0%

AANG: THE MAN Doy 4
POAOR) = PN+ 3(R) - PCAoR)
06 = 0.2 + 05 - PGOR)
fEOR) = o-|
4 oweg 1 Now) Fosag
PR« P®) = 0205 = ol = PCANR)

S THE GETS AL INDFRNDEGT

Question 14 (**+)

The following information is known about the families in a certain village.

The probability of a family owning cats only is 0.1, while the probability of owning
dogs only is 0.15.

The probability of family owning no dogs or cats is 0.2 .
a) Illustrate the above information in a fully completed Venn diagram.
b) Given a family owns no dogs determine the probability they own cats.

¢) Given a family owns cats determine the probability they own no dogs.

P(D’

a e D P (ke o) = BEND) <o

| | P Clgeol) = PO ag
- \ kg~ Hn) = 02

B e o) = 2CmNdeg) ooy
~ | PCo o) oltey ©3 3
LPQC[D‘) = PComT

)

L) p(‘m%&\ )- P‘L\\céz Q) % el

. Plats) oirose  06S E/
[t - 2]

@) )
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Question 15 (**+)

The events A and B are such so that

P(A)=0.2, P(B)=0.6 and P(AUB)=0.75.

a) Determine by showing clear workings whether the events A and B are
statistically independent.

b) Find the probability that just one of the two events occurs.

not independent|, |0.7

P(A)=02 o MB)=0G o PCAOB)=OTS

&) ANG MY BHRIWA
BEAWR) = PA) + P@) ~ P(a08)
07X = 02 + 6.6 - PGOY

PGAOR) = Qg
GleamG: R INDEPEDRGE
PRV« P@R)= 02 x06 = 012 f 0.05 = PGANR)

S T Sent A 4 B
NOT INpeempasT

b) AL N A vow Diaketu g AR 1T OFF
P B Pont ok Wt v ocps)
02¢ = 05 + 0S5

P
=

= 07
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Question 16  (**+)

The events A and B are statistically independent and further satisty
P(A)=04 and P(ANnB)=0.12.

Determine ...

a) ... P(B).

[ 1.|p(B)=03], [P(AUB)=058],{P(AnB)=0.28|, |P(B

4
TIN) = P = 1= BB) <)—o2 = ,7////

£ R 0N BRI ) T AR V) DAGAT ME

z (K] = CE0A) o _ e = 0y

R Y 3

[ ISR 3
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Question 17  (**+)

The results of 100 people taking part in a wine tasting survey are shown below.

. 90 people liked wine A.

. 90 people liked wine B.

. 92 people liked wine C.

. 88 people liked wine A and B.

. 86 people liked wine B and C.

° 87 people liked wine A and C.

. 85 people liked wine A, B and C.

a) Draw a fully completed Venn diagram to represent this data.
Find the probability that a randomly chosen person ...

b) ... likes only two out of the three wines.

¢) ... likes wine B but not wine C.

d) ... doesnotlike wine B.
A person who likes at least two types of wine is selected.

e) Determine the probability that this person likes wines A and C.

e [ [ [
1100’ [100]” [100]’

Ne)
—_
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Question 18  (**+)

The events A and B satisfy

P(A)=0.7 and P(B)=03.
Given that A and B are statistically independent, determine ...

a) ... P(AUB).

b) ... P(AUB).

P(AUB)=0.79|, [P(AUB) =091

e e S
PCA) 70 P(2)=03 @ 44 & A moKEDNST 2
A e’

) s nhy Sopmiy o

PGAUR) = I(A) 4 P® — PGAOB)

f 9

PCAUB) = TR)+P(E) — PAP®) 4— :“:ﬂ”jm
PGAUVR) = 0.7 + 03 — 0Tx03

PAW) < o =

B RCk08) = o0 c2e) - FRONE) & e
PCAVE) = GO + PG — PE)TCR) o
PGHUR) = 0T & 07 — ogxo7
W) = o1&
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Question 19  (**+)

The figure above shows the probability sample space for two events A and B,

summarized by a Venn diagram.

Determine the following probabilities.

a) At least one of the events A, B occurs.

b) At most one of the events A, B occurs.

¢) Only event B occurs.

d) Exactly one of the events A, B occurs.

e) None of the events A, B occurs.

f) Either both events occur or neither event occurs.

g) Either event A occurs or neither event occurs.

The word “or” in this question only implies one or the other but not both

G
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Question 20  (**%)
The events A and B satisfy

P(A)=0.5, P(B)=0.2 and P(A|B)=0.3.
Determine ...

a) ... P(ANB).
b) ... P(AUB).

) ... P(B|A).

[ 1, [P(AnB)=0.06|, [P(AUB)=0.64], |P(B|a)=0.12

PG)=05  P)=o2  PCAlR)=os

&) L3NG owmont. Meoseiny Fiaws

= Al = j?&)@

0.
b PChoR) = 1-o03 = D‘ﬁw/gcub/&m
_ PBnA) | see
R CURE A
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Question 21 (**%)
The events A and B satisfy

P(A)=0.6, P(B)=0.52 and P(AUB)=0.88.

a) Find the value of P(AN B) and hence illustrate this probability information in

a fully completed Venn diagram.

b) Determine ...
i. ...P(B|A).

ii. ... P(A

B).
¢) State, giving a reason, whether A and B are ...

i. ... statistically independent.

ii. ... mutually exclusive.

[ 1.|[p(AnB)=024], |P(B|A)=04|, |P(4

Q)= 0 W) =052 PGAUR) =0 B8

o QNG PCAUR) = PGA) + PCB) — PCanR)
= 043 = 0% 052 — P(AOK)

b) P - RRoa) | oy
) T PQIA) o = 2 L o

™ PRIR) = PHOB) o o _ e
eCy) FoL

) T) N e Konee
BRIA) = o £ o052 = PG)
=
P x P() = 06 x 052 = 0-312.# 02d = PGNB)

W) e oy ek donse PR Ao
d
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Question 22 (**%)

The events A and B are such so that

P(A):O.2, P(B):0.6 and P(A'mB'):0.25.
Determine ...

a) ... P(ANB).
b) ... P(ANB)UP(A'nB).

¢) ... P(A'UB)

[ 1.{P(AnB)=0.05|, [P(AnB)UP(A N B)=04|, [P(AUB)=0.85

PG)=o2 M@)ok PANY)=o.2s

RO OUAUED UGN DIARAM PGAUR) = |05 =075

= FALR)= BA)P(®) ~P(0R) P 5

= 075 = 0:240.6 — PAOR)

— PAOR) =005 : 5 :
// 0.2

AUWNG A UNN DIHGIAM

2CAnsI0 P (W NB) = 015 4 0as

AING STANBACD FeMUA

= PGor) = P + PR) — ANns)
— MAUR) = PCA) + P(R) — PGOR)
= PAUR) = 08 + 04 — ot
= PHo8) < oes —

P
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Question 23 (**%)
The events A and B satisfy

P(A)=04 and  P(AUB)=0.79.
Determine P(B) in each of the two following cases.

a) If A and B are mutually exclusive.

b) If A and B are independent.

0.39

9

9

0.65]

Q) (F e K ARE WM Sccwsie ADR)=D
PRSI CIE R S S )

= Plaot) = 20H+P0H ~ s
= oM sopibw
= PMR’) = o

c Y

b) 15w oant Age viewoe 0D = PAYKPE)

= P& A +PE) — PCANR)
= G A+ POR) ~ PR
= 07 = 04+3IB) — ouP®
= o# P(r)

-
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Question 24 (**%)

The events £ and F are such so that
P(E)=05, < P(F|E)=06, P(E'nF’)=04.
Determine the value of ...

a) ... P(ENF).
b) ... P(E|F).

c) .. P(F'

E).

L1, [P(EnF)=03]. |P(E|F) =075, |P(F’

E')=0.8

P(€)<05 o P(F(E)-06 o PCEMF ) =0y

0) 0D EUDToVAC Nope1ny R2uueA
P(rle) = XF0E
VIO~ S
06 = PCFE)
oS
PCFNE)= o3 /—/

A

B fuw A vow agem)

Pl )- Renf)

-
N R
m fCER) - 03
. o

Rel) = 2 =015,/
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Question 25 (**%)

The events A and B are such so that
P(B)=035, = P(A|B)=0.1, P(AnB)=0.15.
Determine ...

a) ... P(ANB).
b) ... P(AUB).

c) ... P(B

A).

[, [P(AnB)=0.035|,[P(AUB)=0.5|, [P(B

Re)= 035 ¢ PAIB)=ol e PANB)=o0is

0 GINS onOTo DropbiY ot

Pcany)
) = TLAGR)
A )
ol = PGoR)
033

PAOR) = 0.3

<7
B R 4 wow yecoam

BR) = 0 J
Z
¢ Crou mpern) /7
os
PCRAA) _ o3is _ 63 _
9 PGl - Toea) C ves e T “87//
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Question 26 (**%)

The events A and B are such so that

P(A)=072,  P(B)=0.56.

Given that the events are exhaustive, determine P(A|B) .

L. [P(a]B)=7%

fjusme = PVne' )= o

[
&
°
O3ty =012
® 9+2= 0k }&u&@m@ = omn+z=1
@ xtyrz=1 = 2=0.28
= Y=o0u8
= (2= o0au )
= PGngR)= 02

ZSING:_(ONBITIONAL ProeABILDY RemicA

_ PAo®) | eus _ Z
P = TR = e = o5 S

— ATONATWE To find THE VAWE of #(ANE) —

| e exiwaut = PAnE) =0

| = PQug = [

| ®  PAUR) = PUA)+ P(B) - BCA0R)

| = oM +osc — P(ANR)
PAOR) = 0T 306 - |

PAOR) = 0.28
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Question 27 (**%)
The events A and B satisfy

a) Determine P(ANB).
b) Illustrate the events A and B in a fully completed Venn diagram.
¢) Find ...

i. ...P(AnB).

ii. ... P(AUB)

d) Determine, with a reason, whether or not the events A and B are statistically

independent.

not independent

[ 1. |P(AnB)=0.1],|P(AnB)=0.1|, [P(AUB)=09],

)  PGALR) = RW)+ PE) - IH0R)
0% = 0% + 02 — PGAOY)

FAOR) = 034w -0y
PLY) =) =T

b) A w-t tng ket

R

)
Y

9 I PWar) = ol Chom dw ) =
)

/s

FAVE) = R + P®) - PCATa)
PAur) = 0T + 08 — oy
MAur) = 09

/

) ) k@) = paos) GF woremes)

PA)x PR) = 03%02 = 0.06 # ol = PG0p)

S ORI AGE NOT MDD /
v
/
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Question 28  (¥*%)

A total of 60 students went on long coach trip on which the coach stopped at two
separate motorway service stations.

Of those students 28 bought refreshments at the first service station, 42 bought
refreshments at the second service station and 24 bought refreshments at both service
stations.

A student that went on this trip is selected at random.
a) Determine the probability that the student ...
i. ... bought refreshments at least once.
ii. ... bought refreshments once.

b) If the selected student did not buy refreshments twice, find the probability (s)he
did not buy refreshments at all.

|

30] [18

[a—
~

L.

=

NG A4 Uaw DG
?(ﬁmj:%% N Pleoun) = 6% PCAET 0 Seonn) = 2

Vo) = G- Bk o

b Ao esesung [ o oy Toe) = &
8t gt
- 2
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Question 29  (¥*%)

e The probability that one of the members of the W.M.T. Club reads the
Economist is 0.65.

e The probability that one of the members of the W.M.T. Club reads the
Financial Times is 0.45.

e The probability that one of the members of the W.M.T Club only reads the
Economist is 0.4 .

A member of the W.M.T. Club is selected at random.

a) Determine the probability that this member reads the Economist and the
Financial Times.

b) If this member reads the Financial Times determine the probability that he also
reads the Economist.

¢) Given instead that this member does not read the Economist, determine the
probability he reads the Financial Times.

L1, |P(EnF)=025=1| |P(E|F)=2]|, |P(F

9

E)=%

1
41

A B B e
g‘PCE]: o o P(Fl=ol ¢ P(EN F’J:\o//@

e —

0) RN A Ve Didddn

o PCENE) =025 ,//
)z

b e oope PCEIF) = JEAR | ok
S LB T T

Z

N

. PCENE) . 02 o
Q e ppue PCFIEN) e e E Y

4
7
7

BCe) 013§
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Question 30  (**%4)

The events A and B are such so that

P(A)=02,  P(B)=06, P(AUB)=0.68.

a) Determine whether the events A and B are statistically independent.
b) Find the probability that exactly one of the two events A and B occurs.

¢) Find the probability that the event A occurs, given that exactly one of the two
events A and B has already occurred.

[, lindependent|, [0.56],

BA)= 02 o 2(a)= 06 « PCAUR)= 0.8

a)  USING STNOARE_SeMULA

PA0g) = P& + F®) — PANB)
048 = 02 + 06 - P(4nB)

YANE) = o

2 P(A)xP@) = 02 ¥ 04 = 012 = fCANE)

b)) Bu m A ves sweem

S N P (ony ov¢ e emey )
ou(e)ew) = Pan)U PCROR)
= 0.08 +048
~oss #
7
W ocons | .8 _ =
) P(Wocwes | owyove ocwp) T -7L//,5.
a7
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Question 31  (**%4)
The probability that James wears a tie at work is 0.3. The probability he wears a jacket

at work is 0.5. If James wears a jacket at work the probability he wears a tie is 0.4 .
a) Find the probability that, on a randomly selected day, James wears at work ...
i. ... ajacket and a tie.
il. ... nojacket or no tie (or neither).

On a given day James did not wear a tie at work.

b) Find the probability that he was wearing a jacket on that day.

.62, 281, 3
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Question 32  (**%4)

Created by T. Madas

The Venn diagram in the figure above shows the probabilities associated with three
events A, B and C.

g and r.

Some of the probabilities in the Venn diagram are given in terms of the constants p,

a) Given that the events A and B are independent, calculate the value of p.

b) Given further that P(B|C)=0.75, find the value of ¢ and the value of r.

¢) Determine P(A U C|B) .

L1,

p=0.1

b

¢=0.05

, [r=0.35],
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Question 33 (¥*%4)
The events A and B are independent and further satisfy
P(A)=0.2 and P(AUB)=0.68.

a) Determine P(B).
b) Find the probability that exactly one of the two events occur.

¢) Given that exactly one of the two events occur, find the probability that event

”

L

A occurs.
[ ].|[P(B)=06
o) wne P(AUB) = RR) + BR) — PGANR)

PeAOB) = R + RR) ~ Ry RE) & motwar
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Question 34 (¥*%4)

A survey on the reading habits of train commuters revealed that on a regular basis
® 30% read broadsheet newspapers.
® 50% read tabloid newspapers.
® 25% do not read newspapers.

a) Find the probability that a randomly selected commuter reads both broadsheet
and tabloid newspapers.

b) Given that a commuter reads newspapers on a regular basis, determine the
probability that he only reads tabloid newspapers.

[, [5%]. [60%

L?(E}: 03 @ #(T)=0s ® P(B'NT') =025 ]
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P(ROT)= 1-025 =075
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Question 35 (¥%%4)

The events A and B satisfy
P(A)=0.2, P(B)=0.7,
a) Determine P(ANB).
b) Find the value of ...
i. ...P(A|B).

ii. ... P(B|A)

1. [P(AnB)=0.15, |P(4]B) =73, [P(B]4) =3

PlA)=02 o ¥R)=07 @ ?(A'ﬁg’):mu]
—

PAUR) = = 025 =07C

o RO - RA) €100 Tang)
: ‘

= 02 10T _ PCAOB)
PQA0g) = G‘E//;
n Pane) | o5 - 1S -3
b)) Plaly) - R W/
B = fena) 3
R R
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Question 36  (**%4)

The events A and B satisfy

P(A)

Created by T. Madas

P(B)=p and

P(AUB)=

[a—

1

3

N

Given that A and B are statistically independent, determine the value of p.
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Question 37  (**%4)

e The probability that one of the sixth-formers of the Oakwood Boys School
studies Artis 0.12.

e The probability that one of the sixth-formers of the Oakwood Boys School
studies Biology is 0.2 .

e If one of the sixth-formers of the Oakwood Boys School studies Biology, the
probability he studies Artis 0.2.

A sixth-former of the Oakwood Boys School is selected at random.

a) Find the probability that this student studies ...
i. ... Art and Biology.
ii. ... Artor Biology.

b) Given that the selected student studies Art, determine the probability he also
studies Biology.

L1, [P(anB)=004],[P(aUB) =028, |P(B]4)=1

q) STHTING WTH The coNDIToNAL PlsBAiury oA

—_ P(r\\Es‘,z PCANR)
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. 02 = Paagr)
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—  PCAOR) = oou,///
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—  PAUR) =0 + 02 ~oo
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Yy

b) SN T ONDTave Nepqany KR
_ L) < ROA)
= A = S0
= P(sp) = oo
ol

= PR[r) =

.
37

Created by T. Madas



Created by T. Madas

Question 38  (**%4)

The probability that one of the members of the E.C. Club reads the Economistis 0.5.

The probability that one of the members of the E.C. Club does not read the Economist
or the Financial Times is 0.2.

If a member of the E.C. Club reads the Economist, the probability he reads the
Financial Times is 0.9 .

A member of the E.C. Club is selected at random.

a) Determine the probability that this member reads the Economist and the
Financial Times.

b) If the member selected reads the Financial Times determine the probability that
he also reads the Economist.

¢) Given instead that the member selected does not read the Economist, determine
the probability he does not read the Financial Times either.

L1, [P(EnF)=045|, |P(E|F)=0.6|, |P(F’

E')=04
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Question 39
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()

The events A and B are such so that

P(A)=06, = P(B)=03, P(AUB)=0.72.

a) Illustrate this information in a fully completed Venn diagram.

b) Find the value of ...

L

ii.

iii.

... P(ANB).
... P(AUB).

... P(AJAUB).

¢) Determine whether A and B are statistically independent.

P(A'nB)=028], [P(AUB)=0388|, [P(AlAuB)=2],

1.

Created by T. Madas

) o POwE) = G + @) ~ Rong)
(o2

o = 06 + 03 — haw)
P(AE) = o®

HOWE A 06NN DIAFOAM CAY RE COMPETED

Do e <o z/e// Croom DibGw)

T 2CAuE) - T+ ¥C6T - pANE)
= 06 +07 -oU2

= 088
2
m RALAR) = oot & Toomwa’
¢ - XM e

P(AUR) T em 7.";5”//
(D]
QDI THe STANDD METED

R xP@)= 04x03 = 00z = Pornr)

SIS Aoe INDRAIDGTT




Created by T. Madas

Question 40  (**%4)

In a particular day, the following information is given about the 125 customers of a
ladies leather goods store.

e 25 customers did not buy a pair of shoes, nor a handbag, nor a belt.
e No customer bought a pair of shoes and a belt.

e 60 customers bought pairs of shoes.

e 20 customers bought belts.

e 24 customers bought a pair of shoes and a handbag.

® 6 customers bought a belt and a handbag.
One of these 125 customers is selected at random.

a) Draw a Venn diagram to represent the above information and hence determine
the probability that this customer bought ...

i. ... apair of shoes.
ii. ... abelt.
iii. ... two different leather items.

b) If a customer bought a handbag, find the probability she also bought shoes.
¢) If a customer bought a handbag, find the probability she also bought a belt.

d) State, with justification, two types of leather purchases which are statistically
independent.

0.48|, [0.16

0.24], [0.48], [0.12]
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Question 41  (**%4)
The events A and B are such so that

P(A)=0.15 and  P(B)=04.

a) Find P(AUB) if A and B are'...

i. ... mutually exclusive.

ii. ... independent.

b) Given instead that the events A and B are neither mutually exclusive nor

independent, determine ...
i. ... P(A|B) with P(AUB)=0.45.

ii. ... the minimum value of P(AuU B), fully justifying your answer.

[1,|P(AUB)=0.55|, [P(AUB)=0.49|, |P(A|B)=0.25|, [0.4]
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Question 42 (x**¥)
The events A and B are such so that

P(A)=0.3, P(AnB)=0.1, P(AUB)=0.5.
a) Find P(B).
b) Illustrate the above information in a fully completed Venn diagram.
¢) Determine ...
i. ...P(A|B).

ii. ... P(B|A).

[ ].[P(B)=0.65],|P(A|B) =1, |P(B’

= PGhoR) = P& +P@) ~ dCAnw)
—Wa0d) = M) + P& — Paang)

= 0ss = 23 +P®) - o
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SRR ) = 17 055 = 065 ///g
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Question 43 (¥**¥)
The events A and B satisfy

P(A)=

W

., P(B)=3, P(AUB)=15.

a) Illustrate this information in a fully completed Venn diagram.

b) Determine, showing all the relevant workings, whether A and B are
statistically independent.

The events A and C satisfy

P(AUC)=75 ~and P(C|A)=

W)=

¢) Determine ...

i. ... P(4|C).

i, .. P[(Amc)']

W[

, |dependent|, [P(A|C)

, P[(AmC)’}z%
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Question 44 (**¥)

The events A and B are such so that

P(A)=0.7 and P(B)=0.5.
a) Show mathematically that A and B cannot be mutually exclusive.

B')=04.

It is further given that P(A’

b) Determine P(ANB).

[ ].[P(AnB)=04

Cl) I _wAw exonave PAOR) =0
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Question 45 (¥**¥)

The Venn diagram above, shows the probability sample space for two events A and B,
where

AcB. P(A)xP(B)=% ‘and  P(BnA)=1.
a) Show clearly that P(A) = %
b) Determine P(B A').
P(B A’):%
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Question 46  (***%¥)

The events A and B are such so that

19
24~

Il

P(A)=P(B), P(AnB)=5F, PAUB)

Find the value of P(ANB).

1 pans)=,

A T Ity 2\ ‘o .
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Question 47  (¥*¥%¥)

In the Southgate Academy Sixth Form the students are either left handed or right
handed. The following information is also known.

e (0.6 of the students are female.
o (.11 of the students are left handed.

e (.10 of the female students are left handed.

a) Draw a fully completed Venn Diagram to display the above information.
A single student is selected at random from the Southgate Academy Sixth Form.

b) Determine the probability that the student is female and right handed.

¢) Given that the student is left handed, determine the probability that the student
is female.

d) Given that the student is male, determine the probability that the student is left

handed.
6 _ 1_
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Question 48 (***¥)

The events A and B satisfy
P(A)=045, P(ANnB)=0.25, P(AuUB)=0.3.

a) Illustrate the above information in a fully completed Venn diagram.

b) Determine ...

i ...P(AB).
ii. ... P(B|A)
¢) Find P(ANB/|A'UB).
[ Eh P(AB’)=%, P(B’A’):lil, P(AmB'A’UB’)z%

B NG oo Pratrmiun oo o
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RCNoW) = HH) + PB) ~ P(ang’)
PGUR!) = oss 4+ ods - o2
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Question 49 (x**¥)

The events A and B satisfy

P(A|B)=1, P(A

B)=%, P(B)=

Find the value of P(B'|A).

funy B(R|A)- TE0A)
Boory PRIN= o

AN

Created by T. Madas



Created by T. Madas

Question 50 (x**¥)

The events A and B are such so that
P(AmB'):0.25, P(A):2P(B) and P(AUB):O.45.
Determine ...

a) ... P(ANB).

b) ... P(AUB).

[ ].|P(AnB)=0.15], {P(AUB)=0.95

BCAOR) =028 BA)= 2P@®)  R@OR) = o5

FULW A Vo Dt PRy RHnE) = 1— o

PANE) =0 50
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Question 51 (¥**¥)

The events A and B are such so that

P(AUB)=

9,198}

and P(A)=%.
Determine P(B) in each of the following three cases.

a) If A and B are mutually exclusive.

b) If A and B are independent.

c) If P(BJa)=1.
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Question 52 (x**¥)

The events A and B are such so that
P(A)=P(B)=p and P(AUB)=0.84.
Given that A and B are independent events determine the value of p .

p=0.6
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Question 53  (¥¥¥%¥)

The events A and B are such so that

P(A)=2, P(BlA)={ and P(aB)=F

Determine the value of P(A'NB’).

I:I’ P(A’QB’)=15
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Question 54 (F**¥)

The events A and B are such so that

P(4)= P(AnB)=1. P[(A'mB)’}:

Wb

1
2 bl
a) Find the value of P(B).

b) Illustrate the probability space of A and B in a suitably labelled, fully
completed Venn diagram.

¢) Given that at most one of the two events occurred, determine the probability
that event A did not occur.

P(B)=1|.
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Question 55 (***%4)

Abel usually visits his hairdresser at most once a week. On any given week, there is a
probability of 0.08 that Abel will not go to his hairdresser.

The probability that, on his weekly visit to his hairdresser, Abel has a haircut but not a
shave is 0.72. On his weekly visit, if Abel has a haircut the probability he will also
have a shaveis 0.2

a) Find the probability that on a week picked at random Abel has a haircut and a
shave at his hairdresser.

b) Determine whether the events “having a haircut at his hairdresser” and “having
a shave at his hairdresser” are statistically independent.

0.18
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b
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Question 56 (***%4)

The events A and B are such so that

P(A)Z%» P(B)=%, P(ANB)+P(A'nB)=

W=

Ilustrate the probability space of these two events in a fully completed Venn diagram.

, |diagram
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Question 57 (¥**%4)

The events A, B and C are defined in the same probability space so that
P(A) = P(C) = P(BnC’) = 04 and P(AUB)=0.8.
It is further given that A and B are independent, and A and C are mutually exclusive.

Find the value of 'P[(BNC")U(B'nC'NA")].

[ LIP[(BAC)U(BnC'nA)]=032
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STING Fon Aq R Ace moremest”

=9 PCAUR) = PCA) + P(B) ~ PGAOR)

= PCAUR) = BCA)+ P(R) ~ PLA) PCR) &— Mdeprarence
= 0.5 = 0:¢+PR) - 0-UPR)

= ole = 06 KE

= @ = 03

PUITING: T kaown INFORMATION N0 A Ve DiAGeAM ,NTINg
THAC A g C A woroAw] erawsive 3 P(Ang)=PA)RE) =01z,

o P08 = gar=ow T

o B(ENC):z 04 =0Btw= 04 — I

o PCAUR)= 098 = Tw = 042 —IC
= x4y somion =055 -IT

TME ¢ weol

foum 2203 2 =3(Bac’u gacnk)
AT Bl ) Guenew)
P 3 008 = o3 -

e

Created by T. Madas



Created by T. Madas

Question 58 (***%4)
The events A and B are such so that

P(B)=0.76, = P(B|A)=0.6, P(A'nB’)=0.

Find the value of P(A)
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Question 59 (***%4)

The events A and B satisfy
P(A)=x, P(B)=y, P(AUB)=06, P(B|A)=0.2.
a) Show clearly that
4x+5y=3.
The events B and C are mutually exclusive such that
P(BUC)=09, P(C)=x+y.
b) Find the value of x and the value of y .

¢) Determine, showing all the relevant workings, whether A and B are
statistically independent.

independent
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Question 60 (****4)

The events A and B satisfy

P(A)=04, P(A|B)=0.6, P(AUB)=2P(ANB).

Find the value of P(B|A') )
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Question 61 (¥***4)
The events A and B are such so that

P(B|A)= P(A|B):g,

0| W

Determine the value of P(A).
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Question 62 (F¥*¥¥¥)

In a summer camp sport games weekend, some kids played football, some played
rugby, some played football and rugby and some played other games.

The probability, that a kid selected at random, played football but no rugby is % .

The probability, that a kid selected at random, played rugby but no football is %

It 1s thought that the events "a kid playing rugby" or "a kid playing football" are
independent.

Given further that 324 kids played football and rugby, determine two possible
estimates for the number of kids that played no rugby and no football.

,154 or 1944
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Question 63 (Fr*¥¥¥)

In Tawlfy Towers hotel, residents may choose to have breakfast in the hotel and
similarly residents may choose to have dinner in the hotel.

Non residents to the hotel can also book to have dinner in the hotel.

On a certain day, a person who resides in the hotel or had dinner in the hotel is selected
at random.

The probability that this person had breakfast in the hotel is 0.5.
The probability that this person had breakfast and dinner in the hotel is 0.2 .
The probability that this person resides in the hotel and had dinner in the hotel is 0.32.

It is thought that the events "a person has breakfast in the hotel" or "a person has dinner
at the hotel" are independent.

Determine the probability that this person ...
a) ... resides in the hotel and had no breakfast in the hotel.
b) ... had dinner at the hotel given he had breakfast in the hotel.

¢) ... resides in the hotel and had no breakfast in the hotel given he had dinner in
the hotel.
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Question 64 (r*¥¥¥)

The events A and B are such so that
P(AUB'):0.55, P(A'UB):O.8 and P(A'UB'):O.9.

Ilustrate the above information in a fully completed Venn diagram.

Created by T. Madas



Created by T. Madas

Question 65  (k**%F)

The events A and B are such so that

P(AUB)=092, P(AUB)=05 and P(A'UB)=0.88.

Determine the value of P(A'"nB’).
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Question 66 (***¥%¥)

The events C and D are such so that

P(D)=-L P{(CAD)u(C’'aD)]=13.

P(C)= 36

1
3 9
a) Find, showing a full clear method, the value of P(CN D) .

If instead the events C and D satisfy

where k is a positive constant such that P(C)<1, P(D)<1.

b) Show that C and D cannot be mutually exclusive.
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Question 67  (F*¥%F)

Two candidates, A and B, are about to be interviewed by a company.

The probability that both candidates will be unsuccessful is the same as the
probability that candidate B will be unsuccessful.

Show that the probability that both candidates will be successful is the same as the
probability that candidate A will be successful.

Y ou may not assume independence in this question.
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Question 1 (*%)

Two boxes A and B contain chocolates.

Box A contains 6 plain chocolates, 4 milk chocolates and 5 white chocolates.

Box B contains 4 plain chocolates, 3 milk chocolates and 5 white chocolates.

One chocolate is selected from each box at random.

Determine the probability that the two chocolates will be of different type.
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Question 2 (**+)
Bag A contains 3 red balls and 4 green balls and bag B contains 2 red balls and 3

green balls.

A fair dice numbered 1 to 6 is rolled.
e If the dice shows 6, a ball is drawn at random from bag A.

e [f the dice does not show 6 ,a ball is drawn at random from bag B .

a) Find the probability that a red ball will be drawn.

b) Given that a red ball was drawn, determine the probability that the dice had

previously shown a six.
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Question 3 (*%%)

During the winter, Ned attends weekly business meetings in Newcastle and always
travels to these meetings by car.

The probability of being dry, raining or snowing during his travel to these meetings is

%, % and 1 respectively. The respective probabilities of Ned arriving on time when

6 ]
is dry, raini i 2,2 and &
ry, raining or snowing are 7, 5 and 7.

a) Determine the probability that Ned will arrive late for his next winter business
meeting.

Ned arrived late for his meeting last week.

b) Find the probability that it was raining on that day.
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Question 4 (*%%)

A bag contains blue, yellow and red discs and these discs show on their face a single
digit whole number.

The probability of drawing a blue disc is L the probability of drawing a yellow disc is

2 b
% and the probability of drawing a red disc 1s %

i of the blue discs show an even number S

12 8

number and % of the red discs show an even number .

of the yellow discs show an even

A disc is drawn at random from the bag.
a) Determine the probability that the disc will show an even number.

b) Given that the disc that was drawn was showing an even number, find the
probability that the disc was not red.
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Question 5 (¥%%)

In a certain Crown Court 95% of the defendants being tried have actually committed
the crime they are being tried for.

For those who committed the crime the probability of being found guilty is 90% and
for those who did not commit the crime the probability of being found guilty is 5% .

a) Find the probability that a randomly chosen defendant will be found guilty.

b) Given that a randomly chosen defendant was found guilty, find the probability
that the defendant committed the crime.
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Question 6 (*%%)

A test is developed to determine whether someone has or has not got a disease, which
is known to be present in 3% of the population.

Given a person has the disease the test is positive with probability of 98% .

Given a person does not have the disease the test is positive with probability of 5% .
a) Draw a tree diagram to represent this information.

A person is selected at random from the population and tested for the disease.
b) Find the probability that this person's test is positive.

A person who tested positive is selected.
¢) Find the probability that the person does not have the disease.

d) Comment on the effectiveness of this test with reference to the answer given in
part (c).
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Question 7 (¥*%4)

It is estimated that 20% of the cars sold in a certain auction have been involved in
serious accidents. The auction has a test which produces a positive result to indicate
that a car has been involved in serious accident.

If a car has been involved in a serious accident the test will produce a positive result in
80% of the cases. If a car has not been involved in a serious accident the test will
produce a positive resultin 10% of the cases.

a) Draw a tree diagram to represent the above information.
A car is selected at random.
b) Find the probability that this car will...
i. ... test positive.
ii. ... be classed correctly by the test.

¢) Given that a car tests positive determine the probability it has been involved in
a serious accident.

The cars that test positive are further examined by a team of mechanics.

These teams of mechanics have a 90% probability of correctly identifying whether a
car has been involved in an accident or not.

Another car is selected in the auction.

d) Determine the probability that this car has not been involved in a serious
accident, it tested positive but the team of mechanics concluded it had not been
involved in a serious accident.
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Question 8 (**%+)

Bag X contains 3 one pound coins and 2 two pound coins.
Bag Y contains 1 one pound coin and 3 two pound coins.

A statistical experiment consists of
® acoin being picked at random from bag X and placed into bag ¥ .

¢ then a coin being picked at random from bag Y and placed back into bag X .
Find the probability ...
a) ... that a one pound coin will be picked on both occasions in this experiment.
b) ... that at the end of the experiment both bags contain £7 .
A third coin is picked at random from bag X at the end of the experiment.

¢) Determine the probability that it will be a two pound coin.
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Question 9 (¥*%4)

Markus is a health fanatic.

On a given day, the probabilities that he goes for a run, he uses the gym or he cycles
are 0.5, 0.4 and 0.1, respectively.

Markus sometimes uses the sauna after these activities.

The probability he uses the sauna after he goes for a run is 0.1. The respective
probabilities for using the sauna after using the gym or cycling are 0.6 and 0.3.

Find the probability that on a given day Markus ...
a) ... will use the sauna.
b) ... used the gym, given he used the sauna.

¢) ... did not go for a run, given he did not use the sauna.
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Question 10 (**%4)

Taxis in Pajan have to pass an additional safety test consisting of three parts, one for
the brakes, one for the tyres and one for the lights. A taxi must pass all three parts.

The individual probabilities that a taxi will fail the “brake part”, the “tyre part” and the
“light part” are %, % and 1 respectively.

5 bl
These probabilities are independent of one another.
A taxi from Pajan is tested at random.

a) Find the probability that it will fail exactly one of the three parts of the test.

Safety regulations change so that the test has to be performed in the order “brake part”
first, “tyre part”” next and “lights part” last.

If the taxi fails one of the three parts the test results in failure, without any of
remaining parts of the test having to be carried out.

A taxi from Pajan is tested at random under these new regulations.
b) Find the probability that it will fail the test.

¢) Given a taxi failed the test, determine the probability it failed the “lights part”.
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Question 11 (¥**¥)
Arnie and Ned play each other in a darts match, which consists of up to three games.

The winner is the first person to win two games.
The probability that Arnie wins the first game is 0.7 .
Whenever Arnie wins a game the probability he wins the next is 0.6.
Whenever Ned wins a game the probability he wins the next is 0.8.
a) Find the probability that Arnie wins the match.
b) Given that Arnie won the match find the probability he won in two games.

¢) Given Arnie won the first game find the probability he won the match.
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Question 12 (¥**¥)
Trains are arriving at the Villerpool train station every hour and these trains are either

late or on time.

e If a train is on time the probability the next train is on time is 0.9..

e [f atrain is late the probability the next train is late is 0.6.

On a particular day the 07.00 train arrives on time.

a) Determine the probability that...

i. ... the 10.00 train will arrive on time.

il. ... only one out of the 08.00, 09.00 and 10.00 trains will arrive on time.

b) Given that the 10.00 train arrived on time, find the probability that the 08.00

train was late.
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Question 13 (¥**¥)

The scheduled flight DM104, of a certain airline, can be delayed due to the following
three reasons.

e aircraft technical problems, denoted by the event T
e weather conditions, denoted by the event W
[ ]

air traffic congestion, denoted by the event C.

These events are assumed to be independent of one another and the flight will be
delayed if one or more of these events occur.

It is given that P(T)=0.1, P(W)=0.05 and P(C)=0.2.
a) Find the probability that the next DM 104 flight ...

i. ... will be delayed due to exactly one reason.

ii. ... will be delayed.

b) Given that the next DM104 flight was delayed, find the probability that it was
delayed due to one reason only.

¢) Given that the next DM104 flight had no technical problems, find the
probability that it was delayed.

0.283

0.316

= 0.896
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Question 14 (¥**¥)

A candidate is attempting a test at which a maximum of two attempts is allowed.

The outcome of this test is deemed to be a pass or a fail.

The probability that a candidate passes the test in the first attemptis 0.6

The probability that a candidate passes the test is 0.76 .

If a candidate passed the test, determine the probability that he failed the first attempt.
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Question 15 (¥**¥)

A medical test for a certain disease will produce a positive result for 2% of the
population and a negative result for 95% of the population. The test is classed
inconclusive for 3% of the population.

95% of the people who test positive have the disease, 1% of the people who test
negative have the disease, while 20% of the people whose test is classed as
inconclusive have the disease.

a) Draw a tree diagram to represent the above information.
A person is selected at random.
b) Find the probability that this person will ...
i. ... testnegative and will have the disease.
il. ... will have the disease.
¢) Given a person has the disease, determine the probability he tested negative.
d) Comment on the effectiveness of the test with reference to part (c).

For the people whose test is classed as inconclusive a second more expensive test is
carried out. This test will always identify if a person does not have the disease. If a
person has the disease the test will correctly identify this in 95% of the cases.

Another person is selected from the population.

e) Determine the probability that this person either tested negative originally or
his test was inconclusive but eventually was told that he does not have the
disease when the second test was carried out.

| , [0:0095], [0.0345], [~ 0.2754], [0.9743]
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Question 16  (**%%¥)

In the Southgate Academy Sixth Form the students are either left handed or right
handed. The following information is also known.

e (0.6 of the students are female.
o (.11 of the students are left handed.

e (.10 of the female students are left handed.
a) Draw a fully completed tree diagram to display the above information.
A student is selected at random from the Southgate Academy Sixth Form.
b) Determine the probability that the student is female and right handed.
¢) If the student is left handed, find the probability that the student is female.

d) If the student is male, find the probability that the student is left handed.

0.54

b
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Question 17 (¥**¥)

Created by T. Madas

Dora, Tina and Flora are three girls which train daily in their local gym.

Dora's and Tina's daily attendances are independent of one another, with respective

probabilities of 0.9 and 0.8.

Flora is Tina's friend, which also trains in the same gym as Tina.

The probability that Flora trains on any given day is 0.7 if Tina also trains on that day,
but it is 0.4 if Tina does not train on that day.

a) Find the probability that on a given day ...

i.

ii.

.. all three girls train.

..only two of the three girls train.

b) Determine the probability that on a given day...

i

ii.

iii.

iv.

... if Flora trained, then Dora and Tina also trained.
.. 1f Dora and Tina trained, then Flora also trained.
... if Tina trained, then Dora and Flora also trained.

.. if Tina and Flora trained, then Dora also trained.
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Question 18  (**%%)

A certain genetic disease is present in 6% of the population.
A certain test has been developed for detecting this disease.
If a person has the disease the test returns a positive result in 92% of the cases.

If a person does not have the disease, the test returns a positive result in 5% of
the cases.

A randomly chosen person from the general population is tested.
a) Determine the probability that his test returns a positive result.

b) If this person’s test returns a positive result, calculate the probability that he
does not have the disease.

A randomly chosen person that tested positive is tested again for a second time.
¢) Find the probability that this person’s test will again return a positive result.

d) If the second test returns a positive result, calculate the probability that this
person does have the disease.

~0.1022|, |= 0.4599], = 0.5199|, |~ 0.9558|
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Question 19  (*¥**4)

A box contains 3 black balls and 7 white balls, all identical in size.

An experiment consists of drawing a ball out of the box and recording its colour.

e If the ball drawn is black, after its colour is recorded, the ball is replaced back
into the box and an extra black ball is also placed in the box.

e [f the ball drawn is white, after its colour is recorded, the ball is not replaced

back into the box.

The experiment is attempted 3 consecutive times.

Given that in these 3 attempts both colours were recorded, determine the probability

that a black colour was recorded twice.

A4
[ ] |5s=03%
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Question 20  (*¥**4)

A box contains 16 balls, identical in size, of which wof them are white, b of them are
black and 1 of them is red.

Two balls are drawn from the box one after the other, without being replaced.

Determine the probability that the red ball will be picked.
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Question 21  (¥**%4)

The youth academy of Hottenham Football Club has introduced trials for new players.
The performances of prospective players are judged at the end of every game as pass or
fail by a group of football experts.

Each player is invited to play up to three games.

e The probability of a player passing the first game is 0.8.
e Players who pass any game have a probability 0.8 of passing the next game.

e Players who fail any game have a probability 0.6 of failing the next game.

Players who pass all three games will join the first team squad, players who pass any
two games will join the second team squad and those who fail in two games will be
asked to leave. A player can therefore be asked to leave after two games.

A player that is-attempting the trials is selected at random.

a) Determine the probability that ...
i. ... he will be joining the first team.
ii. ... he will be joining the second team.

iii. ... he will be asked to leave.

b) Given a player is asked to leave, find the probability that he is asked to leave
after two games.

Alan, Ben and Charlie are three players having these trials.

¢) Assuming that their performances are independent find the probability, that ...

1. ...atleast one of them will be asked to leave.
ii. ... they will pass seven games between them.
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Question 22  (Gk¥EE)

For _people that spent a long time in the tropics, on their return a test is used to
determine whether they have or have not contracted tropical diseases.

It has been established over time that % of the people spending a long time in the

tropics have contracted tropical diseases.

Given a person has contracted tropical diseases, the probability that the test will

provide a positive result is 19

20"

Given a person has not contracted tropical diseases, the probability that the test will

provide a positive result is %

Complete each of the following tree diagrams to illustrate the above information.
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Question 23  (k¥EF)

The probability that Phil goes to work by car, by bicycle or on foot are %, % and %,
respectively.

The respective probabilities of Phil being late when using these 3 forms of transport

1l 1 W
are =, 15 and 20"

Complete the following tree diagram to illustrate the above information.
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Question 1 (*%%)

A market research company is conducting a survey on pets.

There were 144 pet owners in the survey of whom 66 were dog owners, and of these
dog owners 18 were cat owners too.

There were 42 pet owners that owned no dog or cat.

As an incentive for pet owners to participate in the survey, a year’s free supply of pet
food will be given to one of the entrants as a prize.

An entrant is drawn at random to determine the winner of the prize.
Find the probability that the prize-winner ...

a) ... owns a cat but does not own a dog.

b) ... owns adog.

¢) ... does not own a cat given he does not own a dog.
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Question 2 (*%%)

People are watching a film in a cinema.
The counterfoil of their tickets was retained as they went in.

The management is going to draw two ticket counterfoils at random and the recipients
of these tickets will receive free cinema tickets.

Of the people watching the film, there are 10 men, 20 women, 25 boys and 45 girls.

Calculate the probability that the two free tickets will be won by two children of the
same gender.

43

165

Question 3 (*%%)

Two bags contain numbered cards.
Bag A contains 5 cards, numbered 1, 2, 3,4 and 5.
Bag B contains 5 cards, numbered 2, 3, 4,5 and 6.

A card is selected at random from bag A and placed into bag B. A card is then
selected at random from bag B .

Determine the probability that ...
a) ... both the cards selected will show the number 3.

b) ... both the cards selected will show the same number.
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Question 4 (*%%)

In a school race ten boys are assumed of having equal chance of winning the race or
finishing second or third. The boys that will finish in the first three positions will
receive the customary gold, silver and bronze medal.

Adam, Ben and Carl are taking place in this race.

Calculate the probability that Adam, Ben and Carl will win the three medals.

Question 5 (**%)

A school committee consists of 2 teachers, 3 boys and 4 girls.

A subcommittee is to be formed by picking at random 3 members out of the original
members of the school committee.

Calculate the probability that the subcommittee will contain ...
a) ...no teachers.

b) ... one teacher, one boy and one girl.

Created by T. Madas
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Question 6 (*%%)

A box contains 6 jam doughnuts, 5 cream doughnuts and 4 plain doughnuts. The
doughnuts all look the same on the outside. Three children pick a doughnut each.

a) Find the probability that the three doughnuts the children picked are all ...
i. ... jam doughnuts.
ii. ... of the same type.
iii. ... of different type.

b) Given that the doughnuts the children picked are all of the same type, find the
probability they contained jam.

ﬁﬁ
91|° |455]° |91’

=S

Question 7 (**%)

A bag contains 6 red pegs, 7 green pegs, 8 blue pegs and 9 yellow pegs.
Andrea picks two pegs at random from the bag to hang a dress on a washing line.

Determine the probability that the pegs will be of the same colour.

20
87~ 0.23
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Question 8 (**%)

A school’s staff consists of 90 teachers and 10 administrators.
There are 7 female administrators and 53 female teachers.
Two members of staff are selected at random to attend a meeting.

Find the probability of the two members selected, one will be a female teacher and the
other a male.

212
405 ~ 0.428

Question 9 (**%)

Michael opens a bag of sweets which contains 8 orange flavoured sweets and 12
lemon flavoured sweets.

Firstly, two of his friends pick a sweet at random from the bag and then Michael takes
at random a sweet for himself.

Find the probability that Michael chose a lemon flavoured sweet.
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Question 10  (*%%)
A bag contains 10 balls of which 6 are red, 3 are blue and 1 is yellow.

Three balls are selected at random without replacement.
Determine the probability that ...

a) ... no red balls are selected.

b) ... exactly 2 red balls are selected.

¢) ... the selection contains exactly 2 balls of the same colour.

1| 1] |27

Question 11 (**%)

A box contains 4 black balls, 4 white balls and 4 red balls.
Margot takes three balls at random out of the box and places them on a table.
a) Determine the probability that a ball of each colour was picked.

b) Hence find the probability that two of the balls have the same colour but the
third ball has different colour.
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Question 12 (***4)

Marcia picks at random three bags of crisps, one for herself and two for her two friends.

She picks the three bags from a multi-pack which contains 6 ready salted flavour, 4
cheese and onion flavour and 2 salt and vinegar flavour.

Determine the probability that the three packs she picks are...
a) ... all ready salted flavour.
b) ... all of the same type.

¢) ... one of each type.
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Question 13 (***+)

A box contains 5 red and 4 black balls.
Three balls are selected from the box and are not replaced.
Determine the probability that ...

a) ... all three balls selected are red.

b) ... more black balls are selected that red balls.

Question 14 (¥%*+)

Katerina and Mathew are taking part in a quiz game where they will be asked two
questions each.

The probability that Katerina answers any of her questions correctly is % .

The probability that Mathew answers any of his questions correctly is % .

Determine the probability that Katerina and Mathew will answer correctly exactly
three out of the four questions.
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Question 15 (*¥*%4)

A bag contains 4 orange flavoured sweets, 3 berry flavoured sweets and 2 strawberry
flavoured sweets.

Three sweets are selected from the bag and are not replaced.
Determine the probability that ...
a) ... all three sweets are of the same flavour.

b) ... the three sweets have different flavours.

Question 16 (**%+)

Ron is retired and lives in a country cottage. On some Saturdays he goes to town and
when in town he sometimes goes to a betting shop.

The probability he goes to town on a given Saturday is % .

The probability he goes to town and goes to the betting shop on a given Saturday is %

If Ron did not go to the betting shop one Saturday, determine the probability he did go
to town that Saturday.
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Question 17 (**%4)

A box contains 4 fair coins and one coin which is double-headed.
A coin is selected at random from the box and flipped once.
a) Determine the probability that a head is obtained.

b) Given that a head was obtained, find the probability that the double-headed
coin was picked out of the box.

¢) Given that a head was obtained, find the probability that when the selected coin

I I
5 ’ 3 ’ 3
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Question 18 (***¥)

A bag contains four coins, of which three are fair while the fourth coin is double
headed so that when this coin is tossed a head is always obtained.

One of these four coins is selected at random and tossed three times.
a) Find the probability that a head will be obtained on all three tosses.

b) Given three heads were obtained, determine the probability that the double
headed coin was picked from the bag.

The selected coin is tossed a fourth time.

¢) Find the probability that a head is obtained.
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Question 19 (F**¥)

Andrew and Bradley are tennis players playing each other regularly. Their matches
can last up to 5 sets, the winner being the first to win 3 sets.

. e 3 o
Andrew is assumed to have constant probability 3 of winning any set.

a) Find the probability that Andrew will win the match in ...
i. ... 3 sets.
ii. ... 4 sets.
b) Hence determine the probability that Andrew will win the match.

¢) If Andrew wins a match, find the probability that more than 3 sets were played.
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Question 20 (F**¥)

Tupac and Lutac are two friends that go weigh training on Mondays and Thursdays.
e The probability that Tupac trains on a Monday is 0.9 and on a Thursday 0.8.
e If Tupac trains on a Monday the probability that Lutac also trains is 0.8.

e If Tupac does not train on a Monday the probability that Lutac also does not
trainis 0.2.

e If Tupac trains on a Thursday the probability that Lutac also trains is 0.9.

e If Tupac does not train on a Thursday the probability that Lutac also does not
trainis 0.6 .

Determine the probability that on a given week ...
a) ... they both trained on both days.

b) ... one of them trained on both days and the other only once.

0.5184/, [0.3024]
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Question 21 (¥**¥)

The possible scores and their corresponding probabilities obtained by a spinner are

summarized in the table below.

Score 0 1 2 3 5
Probability 0.2 0.1 0.25 0.2 0:25
The spinner is spun twice and the product of their scores is recorded.
Determine the probability of the product of these scores will be less than 5.
2000,
200~ 0.5225
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Question 22  (¥¥¥%¥)

Three boxes A, B and C contain coins.
e Box A contains 3 gold coins.
¢ Box B contains 2 gold coins and 2 silver coins.
e Box C contains 4 gold coins and 1 silver coin.
A box is selected at random and 2 coins are selected.

Find the probability that box C was selected, if both coins selected were gold.
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Question 23 (¥**¥)

A market research company is conducting a survey on health, diet and exercise on the
staff of a large factory.

They found that L of the factory workers took regular exercise and Lof the factory

3 2
workers ate breakfast. They further found that of those factory workers  who took

regular exercise % also ate breakfast.

A factory worker is selected at random.

a) Find the probability that the worker does not eat breakfast and does not take
regular exercise.

b) Determine, with a reason, whether the events “take regular exercise” and “‘eat
breakfast’ are statistically independent.

54> not independent
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Question 24 (¥**¥)
L 1,2 33,4,5,5
The above eight single digit numbers are written on eight separate pieces of card.

Three cards are picked at random and the numbers they show are added together.

Find the probability that the sum of the three numbers will be an odd number.

—
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Question 25 (F***)

A bag contains a large number of red, green, blue and yellow discs. The probability of

drawing a disc of any colour is %

Dean picks three discs at random from the bag.

Determine the probability Dean will pick at least two discs of the same colour.

<— Al di ool
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Question 26 (¥**¥)

Alex and Ben play each other two sets of tennis every weekend.

e If Alex wins the first set the probability he wins the second set is 0.8.
e [f Ben wins the first set the probability he wins the second set is 0.6 .

e The probability they win one set each is 0.31.

Determine the probability that Alex will win both sets on a given weekend.
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Question 27 (¥**¥)

The probability of a biased coin showing heads is % .
Aaron, Benjamin, Caleb and David toss this coin repeatedly.

They start this experiment alphabetically and continue alphabetically until a head is
obtained. The winner is the first person to obtain a head and once a winner is declared
the experiment is over.

Determine the probability David ...
a) ... wins in his first toss.
b) ... wins in his second toss.
¢) ... gets a third toss.

d) ... gets exactly three tosses.

0.0486/, [0.1835

10.0900 0.0844]

b b b
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Question 28 (***¥)

The two way table below summarizes the sales of three different types of number of
smart phones classified by their contract length in months.

Length of Contract
12 month | 24 month 36 month TOTAL
Hamsung 17 16 17 50
Mokia 29 26 15 70
Ephone 30 27 23 80
TOTAL 76 69 55 200

Let A be the event that a customer chose a Hamsung smart phone.
Let B be the event that a customer chose a 24 month contract.

Let C be the event that a customer chose a Mokia smart phone.
A customer is selected at random.

a) Determine the values of ...

i P(B)
ii. ... P(ANB).
iii. ... P(A|B).

iv. ... P(B'u().

[continues overleaf]
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[continued from overleaf]

Of the customers who bought a Hamsung phone 26% bought a styling skin. The
respective percentages of hose customers who bought Mokia or EPhone smart phones
are 60% and 25% .

b) Find the probability that a customer selected at random bought ...
i. ...askin.

ii. ... a Ephone given he did not buy a skin.

P(B)=-09-=0.345

=L P(ANB)=A0=0.08|, |P(A[B)=10 ~0.2319

200 69

-
-

P(B'uC)=1I4-0.87|, |P(skin) =3 =0.375

=300 3 2 P(Ephone|n0t skin) =12 048

)
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Question 29 (x**¥)

A market research company is conducting a survey on the education of married
couples, on the members of a sports club.

The probability that a husband has a degree is % and the probability that a wife has a
8

degree is 15

3
3

The probability that a husband does not have a degree given that his wife has, is
A couple is selected at random.
Find the probability that...

a) ... both husband and wife have a degree.

b) ... only one of the husband or wife has a degree.

Two couples are next selected at random.

¢) Find the probability that only one of the husbands and only one of the wives
will have a degree.
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Question 30 (F**¥)

A bag contains 25 keys of which 15 are of silver appearance and the rest are of bronze
appearance. Four keys are to be drawn at random from the bag and placed on a mat
next to each other.

Find the probability that...
a) ... the fourth key to be drawn will be of silver appearance.

b) ... two silver keys and two bronze keys will be drawn.

|O]
p—
o0
\O

91
W
)
(@)
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Question 31 (¥**¥)

Two numbers are to be chosen at random from each of the two sets
{1, 2,3,4,5, 6,7,8,9} and {1, 2,3,4,5,6,7,8,9,1 1}
Find the probability that...

a) ... all four numbers to be drawn will be even.

b) ... the sum of all four numbers will be even.

—
[®))
o0
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Question 32 (¥**¥)

A spinner is numbered with 0, 1, 2, 4, 5 and X represents the number indicated by
the spinner.

Adam and Ben play a game with this spinner and the object of the game is to score
more than ten points. Once ten or more points are collected the game is over.

The spinner is spun successively and is not important who spins the spinner, but the
score shown on it.

If the score is odd Adam collects the number of points shown and if the score is even
then Ben collects the number of points. If a zero is spun nobody wins.

The spinner is biased as follows.
The P(X =1)=P(X =2)=0.3 and P(X =4)=P(X =5)=0.1.

Find the probability that ...

a) ... Adam wins in two spins.
b) ... Ben wins in three spins.
¢) ... Adam wins in three spins.

10.01], [0.01], [0.018]

b b
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Question 33 (¥¥¥%F)

A box contains 5 balls of which 2 are white.

Balls are drawn from the box one after the other, without being replaced, until both the

white balls are picked.

If the second ball picked is white, determine the probability that exactly 4 balls were

picked out of the box.

Created by T. Madas
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Question 34  (¥¥¥F)
Two players, A and B, are taking penalty shots in turn, with A starting first.

The “winner” is the first player to score 2 goals.

The probability of A scoring a goal is 0.4 .

The probability of B scoring a goal is 0.7.

You may assume all probabilities are independent of one another.

a) Determine the probability that A wins with his second shot.

b) Determine the probability that B wins with his second shot.

[ 1.

0.16], [0.4116]

b
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Question 35 (¥**%4)

A box contains red and blue cards only, in the ratio 3.: 2.

Two cards are selected from the box, without replacement.

If the probability of selecting different colour cards is 1 , use algebra to find the total

number of cards in the box.
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Question 36  (**¥*%4)

At a college course 75% of the students are male and 25% are female.

It is further known that 60% of the male students own a bike and 40% of the female
students own a bike.

A student is selected at random.

Given that the student selected owns a bike determine the probability that this students
is female ...

a) ... by atwo way table.
b) ... by a tree diagram.

¢) ...by aVenn diagram.
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Question 37 (¥**%4)

A random generator of numbers is programmed to produce three positive real
numbers X;, X, and X5, such that X; + X, + X5 =180.

Joel uses these numbers to represent the three angles of a triangle.

Given that X; =10, determine the probability that the remaining two numbers will be
such, so that the resulting triangle will have an obtuse angle.

Sl

Question 38  (¥***4)

A fair six sided die is rolled repeatedly and number of "sixes" is recorded.

Determine the probability that the third "six" will be obtained in the i« attempt.

3125
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Question 39 (FwEEL)

A regular daily bus service leaves the Voder bus Station and arrives in the Hostend bus
station some time later on the same day.

From its scheduled departure time from Voder, the bus will either leave on time or late
but never early.

From its scheduled arrival time to Hostend, the bus will either arrive early, on time or
late.

If the bus leaves Voder on time, the probability it arrives in Hostend early is 4%, on
time 52% and late 21% .

The probability that the bus arrives in Hostend early is 6% and on time 69% .

a) Given that the bus arrives early in Hostend, determine the probability that it left
Voder on time.

b) Given that the bus arrives late in Hostend, find the probability that it left Voder
late.

Three consecutive days for this bus service are monitored.

¢) Find the probability that these three days, the bus arrives early once, late once
and on time once.

0.16|, {0.0621|

9
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Question 40  (k**%F)

The figure below shows a contraption where balls are rolling down a slope and fall into
one of 8 vertical tubes. There is equal chance of a ball falling into any of these 8
vertical tubes. The ball scores according to which tube it falls in, and these scores are
marked clearly in the figure below.

Two balls are rolled in succession.
Determine the probability that ...
a) ... their sum is even.
b) ... the second ball will score higher than the first.
¢) ... their sum is even and the second ball will score higher than the first.

[continues overleaf]
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[continued from overleaf]

Three balls are rolled in succession.
Determine the probability that ...
d) ... they will fall into different tubes.

e) ... their scores will be different.
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